ZEH:2025.01. 10

#I%E:2017.11.20

— BRl: RTYULR | THILSEERRE: o
L] BRa—F— SL-SHRCW650 [ U735>X500] (fit:k+) 12. 5mm - X ETFRLET A v —1{t S=1:2
ftEF: H @< 560 mm
THE TR
X
vy = |
%y E vt (M6 50) — mm
7597 h=(68%40 25 ‘ AT W=650 s B W ~427m
| T *rTEY
SUS304 - EIFgEL -
= 1w $5% TR 4.2 ~+500mm
S PARDZAC —500mm
- MAsE S b
SUS304
AR b
-+ 30mm
EXkUI% 1+ Z | —30mm
(L=50 mim~150P=900)
Lo
)
e I
B . — L =
159
LO)|
N
o Lo
= =&
SUS304 (3.0t) - . - Lo e VSR AR i
Y254 K1 [ & "0’ T o
a—F—HATL—L (L=115) na N
Y54 K2
(L=115) 9 Ek8)
ftdo L— L8 L‘ AQ
3 _
500 150 20| “\EFMLISY—
— SUS $1.5
21 7|7 VR
| =Yy
i BIRTH) |
itk 7 L—L0C
e — bk L—L
itk
RC: RbL—FF2h—
DEEAY KA | | He <79
| | | | W 70
A A A A A A A A A A e I 8
/1 7 /0 e e e / / / / e 7 ‘// 7 ! 7/ 4 ; -
1N\ // s s v v s s s s s s ¥ s | s // ﬂ
4 / 7 ‘ 7 7 7 7 7 7 7 7 7 /‘ 7 ‘ 7 ‘
s 7 7 7 7 7 7 7 7 7 7 7 7 7 1 v
| Y 7 1 7 7 7 7 7 7 7 7 7 7 ‘ 7 ‘/ | P
} / [ 7 7 7 / / / / / 7 [ Pl / /| ! [=3)
I s /‘ s s v v v v v s s [ 2 P 7 i
1% 7/ 7/ | 7/ 7 7 7 7 7 7/ 7/ 7/ /‘ 7 ‘ 7/ 7/ i 100
’/ // // // // // // // // // // // // // 7 '
| 7 7 ‘ 7 7 7 7 7 7 7 7 7 7 ‘ 7 ‘/ ‘
| i i // Vi i i i i i 7 7 e ‘ 7 A 4 |
1 S L,,,,JT,,,,L,,,,J ,,,,, P S DA A S A N 1 S R g | | =
| | [
t — 1 A=A
<A | | |
| | I o
e - S
| | | N
| | ! o
\ | ! Py
| | i
| | I
\ \ | M4&gD v b
| | I 04
Ty S8— | | i -
[ [
[ L !
|
|
L
N XEHEO RS CRIRDETHLETA Y —%
> h Y fHrES,
! ‘ R 642
‘ : XEFHLET A v—(&. AECRTEDE
} NN | ErS OvsFy bTRIFL, 5 —HOMHEREIC
} \§§} i SUS304 L (T2 L AyEURDTEEEKLET .
N I
! ! | % v E 42l (M6 x50)
} } TS5 T 2 h—($8x40)
\ \ |
HEMUET A v —
SUS ¢1.5
FOELL] S I o ® B ® | I%% % R ELES
% i i LTHTHEAT S BEHEH, BHIR & BHERTCRE NYES=) . . . ml1:2 m1:4 o
iT 7 =5 5
B %iﬁ%i@%?ﬁ ERERR 4 H & 3 . IZIE§. L.
L I

N Y N |

* HEES «  000000000. 000




ZEH:2025.01. 10

#I%E:2017.11.20

— BRl: RTYULR | THILSEERRE: o
L] BRa—F— SL-SHRCW700 [ U735>X500] (fit:k+) 12. 5mm - X ETFRLET A v —1{t S=1:2
ftEF: H @< 560 mm
THE TR
X
=X
5y Eta L (16 % 50) i +427mn
IS557 2 h—(¢8x40) 25 (Bl TH) W=700 ROWZ v v & —477m
(SUS #RERTF#) PR
rED
: Y
SUS304 1+ EIFEL Pl ©s50mm
Lo, g
. N 4.2 —
= S 0 eIPPAS TRe @ 550m
M+ b
=) o ——1 160 20 SUS304
HRT7 v b +30mm
Bk 13 “Z —30mm
(L=50 Tz~ 150P=900)
o
o ~
< ——
hay — - -1
Lo
5
o o
2 ™ g
£8
SUS304_(3.0t) ol VRIAK
(/ﬁ. |.|.| ~
" _ YZX54 K1 ¥ | foe)
=S~k T L—L (L=115) N
Y254 K2 |
|5/47)]
40
3 —
500 200 20| “\EFMLISv—
N SUS ¢ 1.5
oVTFIS VR
| =92y _
(Bl&TE)
itk 27 L—LA0C
e — b b=l
it e
N RC: RhL—FrFVh—
Zadfyb KA | M8 x 70
| | i W, 7"
;’7 :/77777/7f777 /7777777 77777 e 77777 77777 e 7777/77777;/(7777/77777777777/777"(7;7 77777 "1 7777/7 77777 a 7777/7’ i 8
y , s s s / / / / (% s s / i —
1\ 4 //‘ // // // // // // )/ s | // // // ﬂ
4 // // ‘ // // 7 // // // // // // //‘ // ‘ // // // 1
| // 7 1 7 7 7 7 7 7 7 7 7 7 ‘ 7 /‘/ 7 7 ; P v
} / \/ / 7 7 7 7 / / / [ 7 7 / j 0]
I, s ] s s s s s s |/ s s s s i
% // // ! // 7 7 // // // // // // //‘ // // // // I 100
’/ 7 7 7 7 7 7 7 7 7 7 7 7 ‘ 7 7 7 7 '
| 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 ‘
| // 7 ‘// 7 7 // // 7 7 7 // ‘ // . // ya |
1 S A A S A AR YA A A A 4 sl A B A L __ 7 i 8
| =
t | 1 A-A
*’7’7’7’7’7’7’7’7’7’7’7’7’7’7’7’7’7’7’7’4‘*’7’7’%’7’7’@’7’* f I
| i =4
| o
| ! o
|
| I
\ | b
| I 04
Uy o= [ | -
[
| |
| p
\
L {
AN 3 KAIHER D RIS ISR IRDETHLED A ¥ —%
= ANNN | RYMHIET,
BN | NIT ) \
‘ NNN : XEFHLET A v—(&. AECRTEDE
} NN | aoEy OvsFy FTBREL. 5 —A0MmEREIS
| \i\\‘ ‘ SUS304 fELIFRL Ay ELRSTEEEELET.
AN Ed
[ |
! | 4 v E 2t (M6 x 50)
} TS5 T 2 h—($8x40)
\ \
ETFLT A ¥ —
SUS ¢1.5
FOELL] S I o ® & | o ® | IS4 % R WLES
% L LTHTHEAT S BEHEH, BHIR & BHERTCRE NYES=) . ml1:2 aml:4 o
B Ll A %iﬁ%i@%?ﬁ ERERR 547 H & 2 HEES
1 1 - L] " " "
NE [ L1
l l l l l l l l ] * EEES + 000000000. 000




ZEH:2025.01. 10

#I%E:2017.11.20

— BRl: RTYULR | THILSEERRE: o
BRa—F— SL-SHRCW750 [ U735>X500] (fit:k+) 12. 5mm - X ETFRLET A v —1{t S=1:2
f£EIF: HL @< 560 mm
THE ABE
X
~ > \
%y E L M6 x50) ( J—; ;’7 W +gg§’"’"
= s _ BlETE) - mm
2277 2H= 0810 25 ® W=750 ROl v 7
(SUS #Rh (F#4) *TEY
SUS304 k4L pas
Lo ~+600mm
2 = TR _¢4.2 —600mm
— | 10 T wTn—
M4RF v b
=] S — 210 20 SUS304
HART v b +30mm
= | “Z —30mm
——:_—:_—_‘————;__,___ ——— EKEI2 1+
= — =T (L=50 ik~ 150P=900)
__—_—:_—;________'__'__ LO)|
o —‘——_—,__,________'__‘_ ™~
1 ——_—_—;__,_____'__'_
(=2 ——— ——
i
LO
1 N
o Lo
S = 9
EE£ 8 E |
SUS304 (3.0t) - V RIAK 8
—_ — —_ —_ — — — = =
I—F—MWRIL—L YZj:{ K1 P g
(L=115) :HJ
Ek¥]
40
5|0 20 20 SU;Fd):tg,f—\q
IIVTIUR .
| =y e
[C:[F= - -)
itk 7 L—LC
wWE— b L—L
itk
Saqy it KA ‘ | RC: R bL—bkFoh—
! ‘ ‘ M8 x 70 yT
DA A A A A A A A AR A B e e ey I By :
/] 7 I
NG /’ //‘ // // // // // // // // // )(/ // | // // // // | ﬂ
4 e // ‘ // // // // // // // // // //‘ // ‘ // // // // I
| // / e / s s s s s / / / | s ) s s s // ! S v
} / 1/ s s s s / / / s s [ /1 s / / j o
.7 v /‘ v v s s s v v v v 2 s s s s P i
| // // ! // // // // // // // // // /4 // ‘ // // // 7 I 100
’/ 7 7 7 7 7 7 7 7 7 7 7 7 ‘ 7 ‘ 7 7 7 // 7/ '
| 7 7 7 7 7 7 7 7 7 7 7 7 7 e 7 7 Va 7/ ‘
| // // ‘// // // s s s // // // // | s /| // // v // 1
[ S /,,,,,ﬂ,,,,,/,,,,,J ,,,,, A A /4 s AN L [ R A R4 s DI i 8
| | | =
' : | i A-A
<A | | ;
| | I o
e St B [ A =
| | 1 =4
| \ ! <
| | i
| | I
| | i
. . | | I .
Ty IN— | | i
| |
| | !
| |
| |
L |
KN | XEHEO RS CRIRDETHLETA Y —%
- M | ‘ YR HET.
[ERENANN I | TR 4.2
NN : XEFHLET A v—(&. AECRTEDE
} NN } | OvsFy bTRIFL, 5 —HOMHEREIC
} \ii} i SUS304 #-.E (14 L AyEURDTEEEKLET .
N I
! ! | 4w E >4l (M6 x50)
} } iﬁ%b‘?yﬁ—(wxm)
| |
SUS ¢1.5
= I o ® & B M % IS4 % R WLES
% LTHTHEAT S BEHEH, BHIR & BHERTCRE NYES=) . . . . ml1:2 m1:4 . o
B A %iﬁ%i@%?ﬁ ERERR 547 H & 2 HEES
i k . L m
I I I I I I I I ] * EEES + 000000000. 000




	シートとビュー
	62213shrcw500-1h-650
	62213shrcw500-1h-700
	62213shrcw500-1h-750


